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SECTION A (Multiple choice)

Write down the letter corresponding to your best option for each question in the answer
booklet/sheet provided.

QUESTION 1 [36 Marks]

1.1 Mr. Hansen’s annual salary was N$ 282 000 in the year 2004. In 2005 his salary was increased by
12.5% and in 2006 his monthly salary increased to N$ 28 645.03 . From the information above,

determine:
1.1.1 Mr. Hansen’s monthly salary in 2005. [3]
A. N$2 643.50 B. N$35 250.00
B. N$317 250.00 D. N$26 437.50
1.1.2 The percentage increase for 2006. [3]
A. 8.34% B. 1.835% C. 0.0835% D. 8.35%
1.1.3 His total income for the three years. [3]
A.N$ 78 582.53 B. N$942 990.36 C. N$942970.00 D. N$660990.38
3

1.2 Simplify 71 x17°x 492 (3]
A. 8403.5 B. 18.52 C.47 D. 49

1.3 An amount of N$ 508070.00 can be expressed in standard form as: (3]
A. N$5.08070 x 10° B. N$508.070 x x 103
C. N$5080.70 x 102 D. N$5.08070 x 1073

. . 0.009999+505%0+4+0.99001

1.4 Evaluate and simplify 02 [3]
A. 100.0009 B. 0.001
C. 1 D. 0.01



4x —16

1.5 If the matrix (_4 8

) has no inverse the value of x is:

A. 24 B. 2x C. 2 D.

1.6 Factorize the expression y — x — xy + x?

A (x—y)(1—-x) B(x—y»)(x—-1) C (x+1Dly—x) D. y —x)(1—x)

: . . 5 ;
1.7 The solution of the linear equation 'zi = 23—x —4=-=5is:
1 6 19 1
A.X—E B.x——ﬁ C.x———E D.x——H

1.8 Simplify ———[-(—2)?] + ¥/27

3

A. -20 B. 2 C. -34 D. 0

1.9 What is the sum of the series Y5(n° + 3)

A. 128 B.131 C. 240 D. 243

1.10 Which of the expressions below represents the following statement?

A x=2y—5 B.y=2x+5 Cy=2x—5 D.x=2x+5

(3]

(3]

(3]

(3]

(3]



QUESTION 2 [15 Marks]

2.1 It took thirty men 10 days to dig a trench. Working at the same rate, how long would it take twenty
men to dig the trench? (3]

A. 6% days B. 60 days C.15days D.7 days

(120+-2)

2.2 Determine the value of T6-29) +6—-3(3x%x2) [3]
A. —43.75 B.—-17 C. =7 D. 17
2.3 From the Venn Diagram below, describe the shaded region. [3]
A. AUBUC B.AnNBNC C. AuB)NnC D.(AnB)—-C
2.4 Determine the value of n that makes the ratio n: 15 the same as the ratio 36:90 . 3]
A.n = 1350 B.n=5 Cn=10 D.n=6

2.5 Mr. Titus buys x cans of cool drink at N$5.00 each and another (x + 5) cans of juice at N$6.50
each. The total cost was N$ 67 . How many cans of juice Mr. Titus bought? [3]

A. 20 B.3 C.12 D.8



SECTION B (Clearly show all your work)
QUESTION 3 (49 MARKS)

3.1 Expand and simplify the expressions:
3.1.1 (x —xy)? —x? — x(—2xy) (3]
3.1.2 3x(x —3) +x(x —2) (3]

3.2 If the universal set = {1,2,3,4,5,6,7,8,9,10,11,12,13,14,15} , set A = {2,3,4,5,6,7,8}, set B =
{5,8,9,11,14}, D = {2,3}, find:

321 ANnB [2]
3.2.2 n(ANB) (1]
323 AUB (4]
3.2.4 (AUB)¢ (4]

3.3 Given the matrices A = [i ﬂ , B= ( 1 0 ) Find:

3.3.14471 [6]

3.3.224—-B (5]

3.4 Of the 60 students (S) in class, 44 can spell the word ‘Parallel’ (PA), 22 can spell ‘Pythagoras’ (PY)
and 14 can spell neither.

3.4.1 Present this information in a Venn diagram. [5]
3.4.2 How many students can spell both words? (4]
3.4.3 How many students can spell Parallel or Pythagoras? [3]

3.5 Given the formula, S = g—[Zal + (n — 1)]d find the sum of the first 102 terms of the series

94+19+29 + - [5]

3.6 Calculate the amount payable for a loan of N$ 1000 for 3 years at the rate of 10% p.a.
compounding annually. (4]

END OF QUESTION PAPER



